
 If ್మర ൅	ೌయమళ ൏ 0 we need a cuberoot of a complex number.
How do we find that?

find ܥ ൌ ݍ ܹ ൌ ଵܹݍ ൅ ଶܹଶݍ

• Example: what is     ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସయ ?

• Convert to polar coordinates: ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସ ൌ ݎ cos θ ൅ ݅ sin θ
• One cube root will be    యݎ cos ஘ଷ ൅ ݅ sin ஘ଷ
• యݎ ൌ ଷ଺ହଵ଴଼ ଶ ൅ ଽ଻ଶସ ଶల 				 , 	 ஘ଷ ൌ ଵଷ tanିଵ ଽ଻ ଶସ⁄ଷ଺ହ ଵ଴଼⁄ ൌ ଵଷ tanିଵ ଼଻ଷ଻ଷ଴
• Calculator:  యݎ ≅ 1.740051085, 		 ஘ଷ ≅ .2914567945
• Calculator: యݎ cos ஘ଷ ≅ 1.666666667,  యݎ sin ஘ଷ ≅ .5000000000
• This   suggests ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସయ ൌ ହଷ ൅ ݅ ଵଶ .
• In exact arithmetic, we can confirm that ହଷ ൅ ݅ ଵଶ ଷ ൌ ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସ proving    ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସయ ൌ ହଷ ൅ ݅ ଵଶ .
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Solving Quartics with Circulants
• As with cubics, we consider only reduced
quartic polynomials. 

• For example:  ସ ଶ .
• We want to find a 4x4 circulant matrix C
(with 0 diagonal) having  for its 
characteristic polynomial.

• That means C will have the form

• And  ଵ ଶ ଶ ଷ ଷ
• Characteristic polynomial is

0 ଵݍ ଶݍ ଷݍଷݍ 0 ଵݍ ଶݍଶݍ ଷݍ 0 ଵݍଵݍ ଶݍ ଷݍ 0
det ݔ െݍଵ െݍଶ െݍଷെݍଷ ݔ െݍଵ െݍଶെݍଶ െݍଷ ݔ െݍଵെݍଵ െݍଶ െݍଷ ݔ

Want this to equal     ݌ ݔ ൌ ସݔ െ ଶݔ4 ൅ ݔ8 ൅ 35.



Want this to equal     ݌ ݔ ൌ ସݔ െ ଶݔ4 ൅ ݔ8 ൅ 35.
Solve this system for the q’s:																																								41ݍ3ݍ ൅ 22ݍ2 ൌ 4																																			െ4ݍଶ ଵଶݍ ൅ ଷଶݍ ൌ ଶସݍ8 െ ଵସݍ െ ଷସݍ ൅ ଷଶݍଵଶݍ2 െ ଶଶݍଷݍଵݍ4 ൌ 35
Rearranged system:																																																			41ݍ3ݍ ൅ 22ݍ2 ൌ 4																																														െ4ݍଶ ଵଶݍ ൅ ଷଶݍ ൌ ଶସݍ8 െ ଵଶݍ ൅ ଷଶݍ ଶ ൅ 4 ଷݍଵݍ ଶ െ ଶଶݍଷݍଵݍ4 ൌ 35

Rearranged system:																																																			41ݍ3ݍ ൅ 22ݍ2 ൌ 4																																														െ4ݍଶ ଵଶݍ ൅ ଷଶݍ ൌ ଶସݍ8 െ ଵଶݍ ൅ ଷଶݍ ଶ ൅ 4 ଷݍଵݍ ଶ െ ଶଶݍଷݍଵݍ4 ൌ 35
ଵݍଷݍ2																																																																 ൌ 2 െ 																																																							ଶଶݍ ଵଶݍ ൅ ଷଶݍ ൌ െ	 ଶ௤మݍଶସ െ ସ௤మమ ൅ 2 െ ଶଶݍ ଶ െ 2 2 െ ଶଶݍ ଶଶݍ ൌ 35

ଶ଺ݍ െ 4 ൅ ଶଶݍ ଶସݍ െ ଶଶݍ4 ൅ 4 െ ଶସݍ2 2 െ ଶଶݍ ൌ ଶ଺ݍଶଶ4ݍ35 െ ଶସݍ8 െ ଶଶݍ31 െ 4 ൌ 0
Let ݖ ൌ :ଶݍ ଷݖ4									 െ ଶݖ8 െ ݖ31 െ 4 ൌ 0



• ଷ ଶ
• To reduce, factor:   ଷ ଶ యభర  

• Let  మయ in   ଷ ଶ

• Monic:  ଷ ଵ଴ଽଵଶ ଷ଺ହହସ

• ଷ ଵ଴ଽଵଶ ଷ଺ହହସ ଷ
• Discriminant:ଵସ ଶ ଵଶ଻ ଷ ௕ଶ ଶ ௔ଷ ଷ ଽ଻ଶସ ଶ
																																	ൌ ଷ଺ହଵ଴଼ ଶ െ ଵ଴ଽଷ଺ ଷ

	ൌ ଷ଺ହଷ∙ଷ଺ ଶ െ ଵ଴ଽଷ଺ ଷ
	ൌ ଷ଺య∙ଷ଺ହమିଽ∙ଷ଺మ∙ଵ଴ଽయଵ଴଼మ∙ଷ଺య	ൌ ଷ଺∙ଷ଺ହమିଽ∙ଵ଴ଽయଵ଴଼మ∙ଷ଺	ൌ ସ∙ଷ଺ହమିଵ଴ଽయଷ଺మ∙ଷ଺ ൌ ି଼ଵ∙ଽ଻మଷ଺మ∙ଷ଺



• ݑ ൌ ଷ଺ହଵ଴଼ ൅ ݅ ଽ଻ଶସయ ൅ ଷ଺ହଵ଴଼ െ ݅ ଽ଻ଶସయ ൌ ହଷ ൅ ݅ ଵଶ ൅ ହଷ െ ݅ ଵଶ ൌ ଵ଴ଷ
• ݖ ൌ ݑ ൅ ଶଷ ൌ 4
• ଶଶݍ ൌ ݖ ൌ 4		 ⟹		 ଶݍ ൌ േ2
• We don’t have to find all possible solutions – just one
• Let us consider the case ݍଶ ൌ 2. 
• ଵݍଷݍ2	 ൌ 2 െ ଶଶݍ ൌ െ2 so		ݍଷݍଵ ൌ െ1 and  ݍଵଶݍଷଶ ൌ 1.
• ଵଶݍ ൅ ଷଶݍ ൌ െ	 మ೜మ ൌ െ1
• Again we have a sum/product system, so ݍଵଶ and ݍଷଶ must be the 

roots of the quadratic ݐଶ ൅ ݐ ൅ 1.  ie ,ଵଶݍ ଶଶݍ ൌ 	ିଵേ௜ ଷଶ

• ,ଵଶݍ ଶଶݍ ൌ 	ିଵേ௜ ଷଶ
• These are the nonreal cuberoots of unity, and so expressible as cos మഏయ േ ݅ sin మഏయ .  
• If we take  ݍଵଶ ൌ cos మഏయ ൅ ݅ sin మഏయ then we can halve the angle to 

find 				ݍଵ ൌ 	cos ഏయ ൅ ݅ sin ഏయ. 
• Then we have to take  ݍଷ ൌ షభ೜భ
• Since ݍଵ is a sixth root of unity,  ଵ௤భ ൌ ଷݍଵ.  Thusݍ ൌ െݍଵ ൌ െሺcos ഏయ െ ݅ sin ഏయሻ 	ൌ െcos ഏయ ൅ ݅ sin ഏయ



• We have found ݍଵ ൌ ଵଶ ൅ ݅ ଷଶ 	 , ଶൌݍ	 2 and ݍଷ ൌ െଵଶ ൅ ݅ ଷଶ . 

• If these are correct, they give us a circulant for 
which the characteristic polynomial  is our 
original quartic.

• The eigenvalues are:ݍଵ ൅ ଶݍ ൅ ଷݍ ൌ 2 ൅ ݅ 3 , 				െݍଵ൅ݍଶ െ ଷݍ ൌ 2 െ ݅ ଶݍଵെݍ݅					3 െ ଷݍ݅ ൌ െ2 ൅ ݅	, 					െ݅ݍଵെݍଶ ൅ ଷݍ݅ ൌ െ2 െ ݅
• These are in fact the roots of our original 
quartic, which factors as݌ሺݔሻ ൌ ሺݔଶ െ ݔ4 ൅ 7ሻሺݔଶ ൅ ݔ4 ൅ 5ሻ
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